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(i)y = x5

− 4x3 + 2x − 3
(ii)y = x2 3

√

x2

(iii)y = 2x+3
x2−5x+5

(iv)y = tan x − cot x

(v)y = (1+x
2) arctan x−x

2

(vi)y = x
5

ex

(vii)y = ex arcsinx

(viii)y = x2

lnx

(ix)y = lnx log10 x − ln a loga x

(x)y =
3
√

sin2x + 1
cos3x

(xi)y = sin 3x + cos x

5 + tan
√

x

(xii)y = 3
4 ln x

2+1
x2−1 + 1

4 ln x−1
x+1 + 1

2 arctan x

(xiii)y = ch x = e
x+e

−x

2
(xiv)y = 3x

(xv)y = 2 sinx − 1
(xvi)y = sin(x2 + 1)
(xvii)y = ln(x2

− 5)
(xviii)y = ecos 2x+sin 2x

(xix)y = ch(
√

sinx)

(xx)y = x
2 sinx

(x2−1)ex

(xxi)y = x
2−1

x2+1

(xxii)y = ln(x −

√

x2
− 3)

(xxiii)y = 6 sinx − ln(sinx +
√

sin2 x −
1
4)

(xxiv)y = e
arctan 1+x

1−|x|
− 1

2
ln(1+|x|−x+x2)
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y = sinx r
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y = 1

4x2 c�[9SNu?a?c6d\Vwg1e!QX^\T9eU^\^\[
x = 2 r

x
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(i)y = ax6+b√

a2+b2

(ii)y = a
3
√

x2
−

b

x 3
√

x

(iii)y = sinx+cos x

sinx−cos x

(iv)y = x7ex

(v)y = 1
x

+ 2 lnx −
ln x

x

(vi)y = (1 + 3x − 5x2)30

(vii)y = sin(x2
− 5x + 1) + tan a

x

(viii)y = 4
3

4

√

x−1
x+2

(ix)y = 3 sinx − 5 cos x

(x)y = ln(tan x + x)
(xi)y = log3 sin(3x)

(xii)y = 2x ln
√

x

sh(x)
√

x

(xiii)y = 1
ex ln(

√
x2+1)
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